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{ VMHOXeHHne JCCATHYHBIX 3HAKOB Ha CTCIICHDb ACCATU

WUms: Jata: ___ Ouenka:___
7,376 x 10 = 7,03 x 1000 =
6, 894 x 1000000 = 7,683 x 1000000 =
9,077 x 1000000 = 4,812 x 100 =
3,978 x 100000 = 2,313 x 1000000 =
3,239 x 10 = 2,717 x 10000 =
7,661 x 1000000 = 5,275 x 1000 =
3,946 x 100 = 5,853 x 1000 =
10, 198 x 10000 = 8, 655 x 1000 =
2,154 x 100 = 6, 859 x 1000 =
6,91 x 1000 = 1,23 x 1000000 =
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{ YMHO)KCHI/IG ACCATUYHBIX 3HAKOB Ha CTCIICHDb ACCATU

Pws: Jata: ____ Ouemka:
7,376 x 10 =73.76 7,03 x 1000 = 7030
6, 894 x 1000000 = 6894000 7,683 x 1000000 = 7683000
9,077 x 1000000 = 9077000 4,812 x 100 = 481.2
3,978 x 100000 = 397800 2,313 x 1000000 = 2313000
3,239 x 10 =32.39 2,717 x 10000 = 27170
7,661 x 1000000 = 7661000 5,275 x 1000 = 5275
3,946 x 100 = 394.6 5,853 x 1000 = 5853
10, 198 x 10000 = 101980 8,655 x 1000 = 8655
2,154 x 100 =215.4 6, 859 x 1000 = 6859
6,91 x 1000 = 6910 1,23 x 1000000 = 1230000
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